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ut << "\nOperations:\n";

t i=0, 3=0;

ile (i<lenl || j<len2)

if (i<lenl && MED[i+1]1[j]==MED[i][j]-1)

{ cout << " delete next (" << sl[i] << ")\n";
i+=1; }

else if (j<len2 && MED[i][j+1]==MED[i][j]-1)

{ cout << " insert '" << s2[3j] << "'\n";
J+=1; }

else

{ cout << " cursor right\n";
i+=1;
j+=1; } } }

Enter sl: happy
Enter s2: harpie
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sert 'r'
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nclude <iostream>
nclude <string>

t MED[10][10};

id main (void)
string sl, s2;
cout << "Enter sl: ";
cin >> sl;
cout << "Enter s2: ";
cin >> s2;
int lenl=sl.length(), len2=s2.length();
MED[lenl] [len2]=0;
for (int i=lenl; i>=0; i-=1)
for (int j=len2; 3>=0; j-=1)
{ if (i==lenl && j==len2)
continue;
int best=99%8999;
if (i<lenl)
{ int poss=MED[i+1][j]+1;
if (poss<best) best=poss; }
if (i<lenl && j<len2 && slil==s2[3j])
{ int poss=MED[i+1][j+1];
if (poss<best) best=poss; }
if (j<len2)
{ int poss=MED[i][j+1]+1;
if (poss<best) best=poss; }
MED[1] [jl=best; }

for (int i=0; i<=lenl; i+=1)
{ cout << "\n";
for (int j=0; j<=len2; j+=1)
cout << " " << MED[i][j]: }
cout << "\n"; }

ter sl: happy

ter s2: harpie
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